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PART A: Vocabulary

Directions: Choose the word or phrase (1) (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

— e e
1-  Inlate October, the prime minister ----==---- an emergency meeting.
1) deduced 2) summoned 3) associated 4} caoltaboraled
2-  The contract between the two companies will ---------- at the end of the veur.
1) expire 2) obstruct Vi strrender 4) extinguish,
3-  An elderly man has -----ae--- dm:lnhm hospital by living after he was officially

declared dead,

1) converted 2) conducted &l C nded 4) corresponded
4-  These reports are ---------- {0 the man pleted by this committee.
I ) motion 2) iestimony - Wty 4) submission

5-  The points the author makes are fine, ole essay lacks -===---a-- 3
1) route 2} profile 3) coherence 4) solidarity
6- The rise in the interest raie had a direct ----- =====.0n the company’s profits,
.1} domain 2) bearing 3) proportion 4) convergence
7- It is some researchers’ --------- that exercise is more important than diet if you want to
lose weight.
1) exhibition 2) designation 3undertaking 4} contention
8-  There is no ----=----- on students to take so many subjects in one semester,
1) impetus 2) momentum 3} compulsion 4} affiliation
9.  The success of the project is due to the ---------- amount of work that has gone into it.
1} wemendous 2) leading 3) primary 4) celebrated
10- Farmers are still & ---------- political foreein France.
1) potent 2) plentiful 3) prognoslic 4y provisional

— —'—-_"""“"'“"""-'__"'-_'—'—"_"__"‘-"'"-""_I
PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2). (3), or
(4) best fits each space. Then mark thecorrect choice on your answer sheet.

Mature conservation.aneans the protection of animals and plants in their natural homes. It
means the preservation of (11) -------=== species thar live with us on Earth, in the wild places,
and evenuin our gardens and homes. (12)---------- the sensible use of all the Earth’s resources. It
requires the'developmeat (13) --------== a deep sense of responsibilily for the long-term welfare
of this planet. (14) -==------- man's prehistoric ancestors mastered the use of {ire, human beings
have influenced the natoral envivonment. In Africa the buming of forests 50,000 yecars ago
contribured to the eréation of the great grasslands there. But man’s ability (o destroy nalure

(13} -9===---=- i the [a8€ 100 years. The pace of rechnelogical advance has been startling.
11- 1) great varioys 2) great variety of 3) the great various 4) the great vanety ol
12- o) Tt involves 2) They involve
3) s mvolved in 4) They are involved in
13- 1) in mam who 2} of man who 3) in man of 41 wiich man of
14- 1) Whes 2} Unuil 3) As long as 4) Ever since
15- Ljnergased enormous 2) had mercased enormously

Shhad i cnonmously increase 4} has inggessed gnormousky
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best cheoice (1), (2); (3)
or {4). Then mark it on your answer sheet.

PASSACGIL [

Variation, or variability, is a critical corfiponent in statistics education (Ben-Zvi,
2004). Indeed, “if there were no variation in data sets, there would be no need for
statistics” (Watson & Kelly, 2002, p. 1). Unfortunately, statistics courses tend to
overemphasize central tendency and minimize the importance of variability (Reading &
Shaughnessy, 2004). Indeed, Gould (2004) remarked, “The conceptualization of data as
‘signal versus noise’ . . . teaches students that the central tendency, however it’s
measured, is of primary importance and variability is simply.a nuisance. A noisy one at
that” (p. 7).

Despite the tendency for some instructors,to emphnsize  measures of central
tendency, variation is a fundamental component of several models of statistical thinking
and reasoning (e.g., Moore, 1997; Pfannkuch &"Wild, 2004). For example, Wild and
Pfannkuch (1999) included consideration of wariution as one of five types of statistical
thinking. They introduced four aspects of varjation: (a) noticing and acknowledging the
omnipresence of variation; (b) measuring and modeling variation for the purposes of
prediction, explanation, or control; (c) eéxplaiming and dealing with variation to examine
its impact on design and sampling; and (d)/investigative procedures to examine the
properties of variation.

What does the passage mainly discuss?

1) Variability and its measures 2 Measures of central tendency

3} Why vanation 15 enderestimated 4) What the aspects of variation have in conunon

The quotation that, “if there were no variation in data sets, there would be no need for

statistics™, is closest in meaningt ===--=----,

1} variation in data sets is very significan! in sratistics

2) the field of statistics originated from the notion of variation

3} there are cases whenstatistics does not seem to be of help

4} data conlaining no variability are notueedad in statistical analysis

The word “one” in paragraph 1 refers to -----me---,

1) signal 2 nuisance 3) importance 4) central tendency

According to the passage, all of the following are true EXCEPT that -eeeeeeeee,

I} scholars who ineluded consideration of variation as one of the five types of statistical
thinking were cagnizant of the pivotal role of variability in statistics

2] statistics courses {8nd to overemphausize central tendency and minimize the importance
of variability 18mnfortunate

3) there are some“statistics teachers who tend o stress measures of central tendency in their
COurses

4} vaniation is 4 maingomponent in all models of statistical thinking and reasoning

Theword “properties” in paragraph 2 is closest in meaning to «--seeeee.,

| ) asSSELs 2} domains 3} fluctuations 4) trails

Allof the following are used to develop the main topic of the passage EXCEPT ----emneme,

(pexemplification 2} categorizagon 3) process Uime ordeiged) appaal 1o authgrity



Download From: MASTERTEST.IR

AMINTA 4 oo roe (v} (pauass g pogas) pundil LG

PASSAGE 2:

There is a very irritating proverb (irritating because it is true) - a stitch in time saves
nine. And we've all been there. Ignore a small snag in an item 'of clothing that would
have taken a couple of stitches to repair, and it grows into a genuiné tear that needs
much more attention, and takes up far more time to deal with than if you'd given it
those few minutes in the first place.

The same thing applies to designing your research, including both selecting your
sample and creating your data collection instrument. For example if, while you are
writing the questions and statements that you are using to collect data, you give thought
to how you intend to analyze the responses, and make a mote of this, you will find that
you have saved yourself hours of time and a great deal of efrort wWhen it comes to
analysis. '

If you wait until the analysis stage to decide what to do, you are likely to find that
some data that you need won't have been collected and some will have been collected in
the wrong form that makes it extremely difficult to find an appropriate statistical test to
analyze them.

22- Why does the author begin the passage with a commonplace proverb?

1} To ¢laim that the whole statistical endeavor is intended to save time

2} To demonstrate the application of statistics ineveryday life

3) To prove that designing research is not a complicated process

4} To show how a similar thing holds true inrespect.to designing research
23- The word *it" in paragraph 1 refers to -=-------- .

1) stitch 2) snag 3).attention 4) an item of clothing
24- Paragraph 2 scems to suggest that --=- =---,

1) studies carried out hurriedly produce unrelable responses

2) writing research questions would streamline all research endeavors

3) reflecting on the steps to begtaken before a researcher acts would prevent him/her from

squandering time and effort

4) sample selection and data collechon instruments are two crucial aspects in any research
25-  All of the following are true about the upshot of not following the tips included in the

passage EXCEPT that ---=-meaael

1) a wrong statistical measure may be chosen

2) much time and effort would be wasted unnecessarily

3) inappropriate research questions will be formulated

4) data collection procedures may be negatively affected
26- What is the tone of the passage?

1) Satirical 2) Cautionary 3) Humorous 4) Complimentary
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PASSAGE 3:

Unlike other quality management approaches, Six Sigma Seeks to_help managers
achieve measurable, bottom-line results in a-relatively short three to six-month period
of fime. This has enabled Six Sigma to obtain strong support from top management of
many companies (see References 6 and 7). _ e N

To guide managers in their task of affecting short-term results, Six Sigma uses a
five-step process known as the DMAIC model, for the names of steps in the process:
Define, Measure, Analyze, Improve, and Control. This model can be summarized as
follows: : g - : :

o Define—The problem to be solved needs to be defined along with the costs, benefits
of the project, and the impact on the customer.

» Measure—Operational definitions for each critical-to-quality (CTQ) characteristic
must be developed. In addition, the measurement procedure must be verified so that
it is consistent over repeated measurements.

e Analyze—The root causes of why defects can occur need to be determined along with
the variables in the process that cause these defects to occur. Data are collected to
determine the underlying value for each process variable often using control charts
(to be discussed in Sections 11.3 through 11.5).

» Improve—The importance of each process variable on the! Critical-To- Quality
(CTQ) characteristic are studied usifig designed experiments. The objective is to
- determine the best level for each variable that can be maintained in the long term.
~ » Control—Maintain the gains that have been made with a revised process in the long
term by avoiding potential problems that can oecur when a process is changed.
Implementation of the Six Sigma approach requires intensive training in the
DMAIC model as well as a data-oriented approach to analysis that uses designed
experiments and various statistical methods, such as the control chart methods discussed
in the remainder of the chapter.

27- ‘The parenthetical part in paragraph 1 (line 4)is intended {0 ---------- "
1) refer the reader to a part where SOme SOUTCes favoring the claim made can be found
2) encourage the reader to reread chapters 6 and 7 in the same piece of writing
3) point to a part in.the text where managers’ reactions are described in more detail
4) describe why Six Sigma, has obtained strong support from top management of many
: companies yr o =
28-  All of the following are true about the DAMIC model EXCEPT that it ---------- :
1) encapsulates a number of stages
2) is not a quality management approach
3) is ongdn which eachletter in the acronym represents a step
4) helps managers to expedite the accomplishment of their goals
29-  Attempts made to identify the cause of problems pertains to which of the following steps?
1) Analyze 2) Control 3) Improve 4) Measure
30- What.will probably be the topic of the rest of the passage in this chapter of the book?
1) Data=griented approaches to analysis '
2) The implementation of the Six Sigma approach
3) The necessity for training in the DMAIC model
43.@ontrol chart methods
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